



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-1)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{5}\right) =$$



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{13}{2}\right) = \left(-6\frac{1}{2}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{1}{2} = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{9}{16}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{5} = \frac{89}{45} = 1\frac{44}{45}$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \frac{1}{4} = \frac{101}{4} = 25\frac{1}{4}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(-\frac{1}{5}\right)^{(-1)} - \left(-\frac{2}{5}\right) = \left(-\frac{23}{5}\right) = \left(-4\frac{3}{5}\right)$$

$$\left(\frac{1}{6}\right)^2 + \frac{2}{5} = \frac{77}{180}$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(\frac{1}{6}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \frac{21}{4} = 5\frac{1}{4}$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \frac{1}{5} = \frac{134}{45} = 2\frac{44}{45}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \frac{1}{4} = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$\left(\frac{1}{6}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{71}{2} = 35\frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{2} = \frac{27}{50}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) = 0$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$